COMPUTER BASED TEST (CBT)
Memory Based Questions & Solutions

Date: 07 January, 2020 (SHIFT-1) | TIME : (9.30 a.m. to 12.30 p.m)

Duration: 3 Hours | Max. Marks: 300
SUBIJECT: CHEMISTRY
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PART : CHEMISTRY

Straight Objective Type (¥ IS YHR)

This section contains 30 multiple choice questions. Each question has 4 choices (1), (2), (3) and (4) for its
answer, out of which Only One is correct.
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E =0.34V

)
cu®*/Cu

E =0.522V

o
Cu*/Cu
Eo(:uz*/(:u+ =

(1) 0.158 (2) —0.158 (3) 0.182 (4) —0.182

1)

]

E
CU2+ 1 ) Cu+ 0522. Cu
| 0.34 |
2x0.34= E; +1x0.522

E; =0.68-0.522

E; =0.158

Correct order of electron gain enthalpy (kJ/mole) of F, Cl, Br, |
F, Cl, Br, | &I goiagiq Tgvl Tedl (KJ/Ad) &1 98l %49 & 2
(1) —296, — 325, — 333, — 349

(2) =333, — 349, — 325, —296

(3) =349, — 333, — 325, — 296

(4) =325, — 333, — 349, — 296

2

Arrange the following in order of their pKp value

o= BT gD pKp AF B A FaRerd HRT —

N
(A) (Nl)jm (B) CHs—NH-CHs (C) H2N-CH=NH

(HA>B>C 2)B>A >C (3)C>B>A (4)B>C>A

(4)
Option "A" represent Guanadine type compound while (C) represent the imidine class of compound and
(B) represent aliphatic amines. The conjugate acid of Guanadine is most resonance stabilised followed

by imidine. Hence A is more basic than C than B.
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4. 1-Methylethylene oxide % X, Product ‘X' will be —
r

1- RN affriTgs amfra MBI IB™ o x  Ieqrg "X 21T —

Br
(1)\|/ @ Y e @) B > B @) PN
Br Br
Ans. (2)
Sol.

~~ ﬂ»w B N on B N,
H Br Br

5. Correct order of Intermolecular forces

(1) Dipole — Dipole > lon — lon > Dipole — lon
(2) lon— lon > Dipole — Dipole > Dipole — lon
(3) Dipole — lon > Dipole — Dipole > lon — lon
(4) lon — lon > Dipole — lon > Dipole — Dipole
JIRNMIH FAl BT AL HH ¥ —

(1) fega — fega > oM — 3 > fgga — M=
(2) 3 — 3 > fgga — fgya > fayga — s
(3) feya — ama > faya — faga > amae — s
(4) 3 — 3 > fgga — o > faga — fgya

Ans. (4)
6. Hex-3-ynal — & NaBH, (2) PBr (3) Mg/Ether , __ (4) CO, ®GH_, (x), formed product X will be:
So-3-ag e (O NaBH, (2) PBr, (3) Mg/Ether (4) co, OH_, (x), I SIE X B
NI
—=—_FCOH VA
D) @) ICll—OH
O
OH A"
@Y @ 5

Ans. (1)
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— Br
—_ NaBH, — PBr, /T\/
Sol. = = OH—>
CHO N—
Mg/Ether
T
H® =) CO, —
— COOH «—— — C_O —+— — MgBr
S N\ /T\/ / N
CHs o @ ® "
7. < + Cl Nz‘@’S(%eNa—V X' formed product ‘X' is used as:
CHs
(1) Lab test of Phenol (2) Acid base titration indicator
(3) Food colouring (4) Food preservative
CHs ) o
<CH + Cl ﬁz—@SOseN%—Vx , UT IS X BT SYANT fHar Sar g ?
3
(1) ftd & JARTRITST weor § (2) 371 &R JAFAA H YIS b wU A
(3)@mwaﬁaﬁéwﬁﬂaﬂﬁﬁ (4) TTel TRETT B H
Ans.

Hsc\ HsC
Sol. > @ @303 . >N—@—N=N—©—SO?Na@
HsC HsC
Methyl orange

Methyl orange is used as an indicator in acid base titration.

AR SRS BT ST 3 AR AT § GaH & U A a1 o 2 |

8. In which of the following Saytzeff product will not be formed as major product ?
=1 & 9 o A # @ SR % STTg T8 B ?
oH )\/ alc. KOH
(A) H (B) A
A Br

t BUOK* oH o
(©) A (D) —
Br )\/U\H A

(1) Only &aa C (2) Only &9 B (3)A, C&D (4)B&D
Ans. (1)
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OH
Sol. (1) H" |
A -
)\/ alc. KOH
) A
Br

tBUOK N
3) )\/ I
Br

OH
) )\/E\H T /\)OJ\H

\|/

9. Match the column
Column-I Column-II
(A) Thiamine (P) Scurvy
(B) Riboflavin (Q) Beri Beri
(C) Pyridoxine (R) Cheilosis
(D) Ascorbic acid (S) Convulsions
=1 &1 e Sifoiy —
PieTH-| HicH-lI
(A) 2maTe (P) T d
(B) ITsaTTIfa Q)& &
(C) urgIsIa== (R) BIARI (Cheilosis)
(D) TEpIfd® 3 (S) RIS UsHT (Convulsions)
1A->Q B—->R C->P D—>S
2)A->Q B->R C-—>S D>P
BA->R B—->Q C—>S D->P
@HA->R B—->Q C—>P D—>S

Ans. (2)
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Sol.

10.

Ans.

Vitamins Deficiency Diseases
Vitamin B (Thiamine) Beri Beri

Vitamin Bz (Riboflavin) Cheilosis

Vitamin Be (Pyridoxine) Convulsions

Vitamin C (Ascorbic acid) | Scurvy

faem= a1 S A
faer™ B (amari=) CRUCEIl

faer™i| B, (RTgaIFfa) PreATRIg

faer™i| Bs (UTsISIRIE) | FRIS sl

faeri= C (veifd® orer) | Thdl

Atomic radius of Ag is similar to

Ag @ W] et feae aae Bl 8 ?

(1) Cu (2) Hg (3*) Au

®3)

() Ni
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